






f(t) ≡ 0 =⇒ ∀t < 0

t = 0

f(t) =




0 =⇒ ∀t < 0

3.25 sin
(
4 t+

π

6

)
=⇒ ∀t ≥ 0

g(t) =




0 =⇒ ∀t < 0

1 =⇒ ∀t ≥ 0



L [f(t)] =

∫ +∞

0

f(t) e−st d t = F (s)

Re(s) > σ̄















1(t) =




0 =⇒ ∀t < 0

1 =⇒ ∀t ≥ 0















d2 y

d t
+ 3

d y

d t
+ 2y(t) = (1 + 3t) · 1(t)





































Ci, j =
1

(ni − j)!
lim
s→pi

{
d(ni−j)

d s(ni−j)
[F (s) (s− pi)

ni ]

}











H(s) =
µ

As+ (k + µ)
· L{

h0(t)
}

H(s) =


 C1

s+
(k + µ)

A

+
C2

s




h(t) =
µh0

k + µ


1− e

−
(k + µ)

A
t

 · 1(t)



























φ = arctan

(
4

3

)






